Math 252 In Class Worksheet 1

Possible Limit Situations:

Horizontal Asymptote:
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where n is the degree of the denominator.

Composite Function:
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Vertical Asymptote:
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Continuity:
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by substitution since es® is a continuous
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forms which may not fall into the hole or

vertical asymptote situation but may still be evaluated. In order to do so we introduce:

I’Hospital’s Rule: Suppose f and g are differentiable and g'(x) # 0 near a (except possibly at

a). Suppose that
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so long as the limit on the right (with the derivatives) exists or is £oo.



1. Let f(z) = 2*+z — 2 and g(x) = 2? — z. First show that lim % does in fact equal
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2. Determine the following limits using I’'Hospital’s Rule:
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Practice Problems:

1. Evaluate the following limits.
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2. If an object with mass mn is dropped from rest, one model for its speed v after ¢ seconds,

taking air resistance into accound, is

__’nE _ _ct/m
V= A (1 e )

where g is the acceleration due to gravity and c is a positive constant.

a. Calculate lim »v. What is the meaning of
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b. For fixed ¢, use I'Hospital’s Rule to

calculate lim ». What can you conclude

c—Q
about the velocity of a falling object in a

vacuum?
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